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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800 -

2600 -

2400 -

2200 -

2000 - Warning: col ["ECC, *FVIEC' ] is missing

35 40 45 50 55
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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P3-5

BfiE) | GEBEIK (FY) | Ells (EH/HK) (XS R

06:50 278 150.0 FA| 1B2i%@06:50 B3zh (KABIERESE)
07:15 278 150.0 & =| 1Rig@07:15 Bzh (RAHEESE)
08:40 278 150.0 (& =| 1RiB008:40 Bzh (KREEREE)
09:40 278 150.0 & =| 1Ri%e09:40 Bz (kPBEREEE)
10:45 278 150.0 (& =| 1BRiB@10:45 Bzh (REERESE)
11:40 278 150.0 (& =| 1BRige11:40 Bzh (REERESE)
12:20 278 150.0 [ =| Ri%e12:20 Bz (kAEREE)
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15:55 278 150.0 P {Ri%e15:55 Bzh (RAERSE)
17:00 278 150.0 FA| 1Ri%e17:00 B3 (KRAHEREEE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2080.0 vs 3237.0) RS
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P3-5_0, Day=55 (2025-05-23)

T e g g e S B S g g

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 - 1432
1200

50 4 60 [676

"FVO' ] missing

Warning: lcol ['FVI’,

20

200 3

150 -

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0
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P3-5

BfiE) | EBETK (D) | EE (EH/AR) | XK R

06:25 278 150.0 & =| 1Ri%e06:25 Bz (kAEREEE)
06:50 278 150.0 (Z=| 1BRi%e06:50 B3zh (REERSE)
07:15 278 150.0 & =| 1Ri%e07:15 Bz (kBEREEE)
09:20 278 150.0 FA| 1BRi%@09:20 Bzh (kAB{EREEE)
11:30 278 150.0 FA| 1BRi%@11:30 B3h (RABEREE)
13:15 278 150.0 FA| 1BRi%@13:15 B3h (KRAHERSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2040.0 vs 3363.0) i d 5
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P3-5_0, Day=54 (2025-05-22)
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P3-5

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:00 278 150.0 (Z=| 1BRi%@07:00 Bzh (REERESE)
07:25 278 150.0 & =| 1Rig@07:25 Bzh (KRAHEESE)
09:15 278 150.0 (& =| {Ri%e09:15 Bzl (REAERSE)
10:15 278 150.0 |Z=| 1BRige10:15 Bzh (REERESE)
11:00 278 150.0 (& =| 1Bige11:00 Bzh (REFREE)
11:45 278 150.0 (& =| 1BRige11:45 Bzh (REERESE)
12:30 278 150.0 [Z=| 1BRige@12:30 Bzh (REERESE)
13:15 278 150. 0 E| {Rige13:15 Bzh (RE{ERSE)
14:00 278 150.0 E|  {Rige14:00 B3h (RE{EREE)
14:45 278 150.0 | Ri%e14:45 B (REAHRESE)
15:40 278 150.0 F BRige15:40 Bz CGRAERESE)
16:45 278 150.0 F BRige16:45 Bz (GRAERESE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

#H[EKECE (2163.0 vs 3550.0) i35




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=53 (2025-05-21)
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T e g g g e S S B S g

2100 100

i L 2000
100 1611

1400 414
182

50 - 1000
80
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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